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Question 1

Read the following passage, and answer in English the questions that follow.

STRY M AR CTP-R) OWHW SanD CoR WPK 2 19°3X I AR CIIR N7 177 KN
IPY "RITRNR TN 03 20T 1IN 123K DK CDTAY MO 232 "D YT MION)
TRZT 22 3TN TIDW M 0VTp3 MK MOTOR 2TV VIR 0oo-X LD XYY ovin
DTPY IR 93 3797 750 M 0VTpY WX 11D OX) 0P

77 - 7 KD P NUNT

Genesis, Chapter 31, verses 5 - 8.

2D R TPY RI X MR 2337 WRY 3pye ona oont-RT RO CUR mNn
A7 TPY 13?2 WX 9D DX CIUK) "D 0UTIN DT DVTpY XX Yy 0By Inyn
12 XX O [0Y 773 0¥ °7 D773 WK TR0 0@ DNOR WX X M3 5-R7 O3
Pom AP Tiyd 12 miaNm XD P ym AnToin PIR DR 2w NN TN
190D NR 10K 03 PoX" R v 0 wawm Aol X9 AraR nhaa avnn
D°2-R MR R 5D 1AY) WP R AP WARD 0°AD-R PRT WK WYT 9D 0D
MAPR 22 DX AP PRI Y TYI NN) P12 DR KD 3pY 0PN Y TR
MEI TIR POYY OR KNP 0K 1792 U TR NI MIpR WO WK WD) P2 DY)
IR 3pY? 33N PAR? WX DODIAT MR DM 33M BKE X Y 97 129 v
7297 0P 2 R P21 XAT mIAN X ma D 2 Tan cha by omna b ab
APY? M3 °3 °vown oPa 1397 T2 TYPAT 0 TID AR Ow M DX

29 - N NP P8 NUKI2

Genesis, Chapter 31, verses 11 - 22.

line
number

1

10

11

12

13

14

15




Question 1 (continued)

(a)

(b)

(c)

(d)

(e)

(f)

(9)

(h)

(i

1)

(k)

TR (line 1): Who is speaking?
71 0¥ °% PIT1 WX (line 7): What was the vow?

2 737K XD P10 190 (line 8):

(i) What difficulties are there in this phrase?

(i) Mention any two complaints that Jacob / Ya’'akov makes
to Rachel and Leah. (lines 1 - 4)

Translate from oYM (line 8)
until ey (line 11)

What does Jacob / Yaakov do in lines 11 — 12?
Mention two points.

What is meant by 13°1p 732 (line 12)?
What are 0°070 (line 13)?

When Jacob / Yaakov fled (line 10), what was his route?
Mention two points.

Give an example of an introductory 2 from this passage.

The verbs T°11 (line 14) and T3 (line 15) have the same root.
Show a difference between the two forms.

Using examples from these paragraphs, show how Jacob / Yaakov
and his wives view their relationship with Laban / Lavan.

Mention three points.

[1]

(2]

[1]
[2]

[6]

[2]

[2]

[1]

[2]

[1]

[2]

[3]

[Total: 25 marks]
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Question 2

Read the following passage, and answer in English the questions that follow.

line
number

NX) YL CNY DR P K N2772 0PN MANRA XD NP2 T XM Y9 PY ammpn taym 1
TR DR T2Y7) P03 DR 0727 O0p7 PR T2YR AR AN YT WY MR DR) vANRY nw 2
Ypn 107 A22 v 2 B0 XY o R oy ny 7Y iRy whR paxn 112y apyy o v 3

PIP273TOR °2 ANPUN KD WK MWD 72Y 0D CIIPY MR 0y PANTR IpY TN P 4

DY D719 °3 PRIY DX °3 TAY T WK 3Py KD MK 3pYY R JRETan YRR MR 5
TN RT? PRED 1 nR7 W) TR RI AT WK 2PYY ORY S DUIR OY) DR 6
T2 mI) 2wDl PXIm DB DR 39 DX IPXD °3 PRI DippT OV 3pY RPN DY MR 7

NWIT T3 AR PRIV 212 20K° RY 12 DY DWTOY YRR XA DXUD DR M2Y WX wawn 8
MM R PPY 2PYY RPN APIT TA2 IPY T 792 VA D MI OPT W ! P Y WR 9
NINDYR "AY 7Y 207 PY) ARG BY oIn AR 7O WOR NiXA VAR MY X2 WY 10

NP PW /A0 - 320 .30 pw wNa

Genesis, Chapter 32, verses 22 — 33. / Chapter 33, verse 1

IXZT 22 M) R O 2D Py niby Tpam INEM 0727 079N D YT CIIN YR MR 11
MR TY DT 2371 397 WK MORRT 2377 "LRD APIINK CIK T2y (a0 IR X Y 12
7 RIDR 77 7 WY AR WX YT R TRY X3 APEX WY MR ATV IR OR KaR 13
AR IR OYT M JAY RI APIX WY WX 7YY 977 Wy 0T o2 2gt SR Y2 14
MO0 YOI 2PYN ATV DIT7 Ty XMT OFD 2PN SIIR YA W RIAR T MR 15
IR 0OV Y DPW 3py’ X2 N0 0ippT 0w XIp 12 Y nisp mwy mipp n3 oA 16
TR IR 0P T3 WK ATED NPT AR P YR CIThR T 00X 17ER a3 19ID YW 17

ORI T9-R P-R ¥ RIPN) M2 0P 237 0P TRN2 DIV AN WA C33 18
D XA P TN

Genesis, Chapter 33, verses 13 - 20.




Question 2 (continued)

(a) Who is referred to in line 1? [1]
(b) Translate from MM (line 3)

until 201 (line 6) [6]
(c) Ry WR PAR (line 3): Who is this man? [1]

(d) X" (line 7):
(i) Why does this place receive such a name? {2]

(i) How do you account for the change in name from ?X°38 (line 7) to ?X1B (line 8)?

Give any two possibilities. [2]
(e) (i) Whatis the 131 7°2 (line 8)? [1]
(i) What prohibition is connected with it? [1]
(iii) To whom does this prohibition apply? ]

(f) What is Jacob / Yaakov's request (lines 11— 13)?
Mention two points. [2]

(9) From these passages, find two examples, using different roots,
of verbs whose last root letter is a 17 (Lamed-He). [2]

(h) Where is DIX 178 (line 17) in relation to Canaan?
You may draw a sketch map. 1]

(i) 1':1}:7,9] (line 1) and 072Y") (line 2) are from the same root.
Show a difference between the two forms. [2]

() What unit of currency is used in Shechem at this time? (line 18). 1]

(k) From these passages, what strategies does Jacob / Yaakov use to
deal with Esau / Esav? Give two examples. [2]

[Total: 25 marks]
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Question 3

Read the following passage, and answer in English the questions that follow.

mRY) DR CTAY TWR RRD YR DR P12 VWi SR MR® T3y Awn nin IR
OipR 3 PRI *327 07 101 °3IR WK PIRT OR 477 0¥ °3) DR M7 1TRITAX T2Y op
I 7YY 710 10250 TR0R AYRTOR "RIAT UKD AN 077 12 D?‘??j 2 TR WK
YOR 23°0° X2 029123 U wawn Xian Pima oo Ty o°nnm 7R 53 I M BT
TOR °D PAR) P YR KDY GBI KPPy WA AW OY 077 WRD 0 R 5D TID?
AW XM YRR PIT P 077 NN? ONIRY CNYIWI WK YIRT DX 717 OYT AR WA
TR Y02 2U0wn ynd PRy Pre awmn on DX STV YR IR WK 7R 90D nivy?
2027 723 NTwy? Tawn 1Rk a1 optt 2 peam Teen 1 A7iRD D0 v XD 90
TRY *3 NOR PRY TIYA SR YAR) pIT TR K97 273w TRY 7277 AR mU0XR IR CD 12
Y7 DX V) MR 22 MY SR OYR CTWTTDR YYIT 8N 0 WX 932 TROR
TIRT AR NYIP K1DP A1 1IN0 AR 02V DRK OO DOV TR °3 A¥ 027 w7 K?
ARRY YU R AWIRT LIV XYY CTA?) "IN ANYY? 007 101 0TR-R 0 UK
TIRT DX 027 103) 027 W3R 02K MKR? 7 TY YR DAOR ME WK 1277 AR NI
DWRN M2YD DARY TIT T3V3 1Y 037 103 WK TIND 10 02°IpR 0280 DY XTI
MRT D3 W) 03D 0MR? I3 WK TY ONK DAY 0T 733 D 00K Cipt

YR 077 103 IR ANIK DAY DAY YIX? DNAYY o7 N1 02K Y WK PINT MR
MR 93 OX) TPYI AME WK 5D MN? YYIT AR YY) WRED MR 17T 3YR 1Y
M WRD TRY AR M P TR YNUI 1D MYR DR WYY TR 933 391 N0PUn

TEX) PUT PI NP RN WX 537 TIRT DR YRYT KDY TB AR AP WK UK Y2 wn OY

X P yonr

Joshua, Chapter 1.

line
number

17

18

19




Question 3 (continued)

(a) How is Yehoshua / Joshua described? (line 1) 11
(b) 12 (line 1): Suggest a reason for the unusual pronunciation of this word. 11
(c) In what direction to the land of Israel is the Great Sea? (line 4) 11

(d) Where are the following places / areas in relation to the Land of Canaan?
You may draw a sketch map. -
(i) o°Ana TR (line 1) [1]

(e) What promise does G-d make? (lines 4 — 5)

Mention any two points. [2]

(f) What condition does G-d impose? (lines 6 — 7) [2]
(g)  Translate from 7412} (line 8)

until I3 1IN (line 11) [6]

(h) What arrangement had Moshe / Moses made with these three tribes? (lines 12— 17)
Mention three details. [3]

(i) How do the three tribes respond to Yehoshua / Joshua? (lines 17 - 18)
Mention two points. [2]

) Give three different examples of Hifil verbs from this passage. [3]

(k) The phrase 772X 117 (line 19) is repeated several times in this passage.
Suggest a reason for this. [2]

[Total: 25 marks]
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Question 4

Read the following passage, and answer in English the questions that follow.

M7 DRY PIRT DR ORD D RR? WON 093N DVIR DY DU0ED 1R 713 YU 12w
WD DOWIR 7T WR? T ToRD MRY MY NN 200 A 1 IR 002 X2 DN
DUPINE KRN K IMTIR WPT Ton N2 pINT AR (807 ORI *1an nYTen mIn
DWIRT °3¥ AR PRI NpAY AR2 TIRG 9D DR BO? "D 37 W2 WK TR XD
DUIRT) PN 07 WD TN BT PR2 CAYT XD) OWIRT oK N2 1D KM 11030
M3 DNPYT XM WD D OPIOR R DT TVIRT D77 MR CAYT, KD XY
niNayRn 9 1IN0 777 0K W DVIRM 237 Y A7 DDA YT "nwDa Dpmvm
DIy NPy X°M) PRADY O MRM) DR D°BTNT REY WRD MR MUD WY

721 W2Y DINWK 203 3] TIRT DR 0D 7 10 D CAYT DWIRT PR KA 237 0y
DRNR¥D 037390 MO 07 R MR > U WK AR WYRT "D 02°39n PIRT C3W) 72
AP DA TR WA 07 1INT YR WK CIRT 290 30 DIPOY XY O7%RR
DAY DIP-X X DDPTR-R 0 0D 02715 YUK M TV Nnp KDY 11227 onM yaun

DAR 03 OR°@Y) 700 DIRY DY °D 2 °7 NI WA a0Y) nnpn TIRT O9) Symn

DR APOR DR) AR XY AR DR) AR DX D0 GnpR DX D onng Ton AR ol oy

DPXY TOM Yy WYY PIRE AR Wp " AN MW A WIIT AR I

T - K2 PR YONT

Joshua, Chapter 2, verses 1 - 14.

line
number

1

10

11

12

13

14

15

16




Question 4 (continued)

(a)

(b)

(c)

(d)

(e)

()

(9)

(h)

(i)

)

(k)

How many men does Joshua / Yehoshua send? (line 1) [1]

What is their mission? (line 1) [11

How does the behaviour of Rahab / Rachav come into conflict
with the king of Jericho / Yericho?

Mention any two points. [2]
Translate from 12 MRM (line 5) )
until b ¥y s (line 7) [6]

What steps did the king of Jericho / Yericho take
to capture the two spies? (lines 7 - 8)
Mention any two points. [2]

What did Rahab / Rachav admit to the two spies? (line 9)

Mention any one point. [1]
Mention one historical event that Rahab / Rachav recalls. (lines 10— 11). [1]
What do these events lead Rahab / Rachav to conclude? (lines 12 - 13) [1]

What is the arrangement between Rahab / Rachav and the spies? (lines 14 — 16) [2]

Theverbroots 237 (@?3M—line1) and 98N (7BN? - line 3)
are both used in this passage to mean ‘to spy’.

(i) What is the true meaning of each of these verb roots? [2]

(ii) Explain how each of these verb roots can be used to mean ‘to spy’. 21
What do we learn about life in the land of Canaan at this time?

Mention two points, and give examples from the passage. [4]

[Total: 25 marks]
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Question 5

Read the following passage, and answer in English the questions that foliow.

I 13 DY PN 0N KT DNP-RY UOR YRY R DRP-RT 137 M)
Y0 KD WK D oKD Dy M) PRI AT 003 93 0X) AP T2n
TI0 7277 M3 CAXA °D IN°2% TOX W DRI °32 0NN OY Panhh X9

D7IDX 73 DY DX DY 11 2 373 N3 1N 727 IR e
MR NN DY 1272 DAL V) RDTNN 1) 0ER R¥ 713 29
oY 17 29) 02U > 33 oA nfey? mim oyl meYER M7 M3

ST 20 YA PR 129) 1M amm o QYT OX DmITX PR M

DN e i T

mam 02w NToy; DD 27 OTAR MR 2T VY W wYM a0 TYM

NR) 9R M°22 MRT DR 0PN 007%R PIORD 0PI WK ORI IR

YN A3 7Y MR °I0? QY 0PN DRR0? "I 7270 770 73 103 MRD
QY27 WY 217 C1an PR ORD WX OY7 Dizpn 0°ITD wyM nNina v DR
marAT 9 Py NPTI WK 7D WIN? 0P gy Agnna "rawn wina
NIAQT °IT27NR PR 033 TRYM APY WK D093Y? 0317 OR 32 1wy 12
"PRYT UIN2 0P Uy Awnna DX 132 mey WK namnhy By Siwy WK

TUPT? mAMT BY DY DRI 0127 A wyn i2Pn K72 WK wIna

J0 - 379 .3 X 0795

! Kings, Chapter 12, verses 22 - 33.

line
number

1

2

10

11

12

13

14

15




Question 5 (continued)

(a)

(b)

(c)

(d)

(e)

()

(9)

(h)

(i)

)

(k)

How is Shemaiah described? (line 1)

(i) Who else is present when Shemaiah addresses the king? (lines 1 - 2)

(i) Why does Shemaiah address the king in front of a large audience?
What does Shemaiah advise his audience? (line 2 - 3)

How does Jeroboam / Yaraveam strengthen his kingdom?‘ (line 4 - 5)
What is the historical importance of the places mentioned in lines 4 — 5?

Translate from ird ey (line 6)
until IR TN (line 9)

What is significant about the towns mentioned in lines 9 — 10?7

The phrase 17 7Y MRT °10% 0y 1097 (line 10) is difficult to translate.
Suggest a translation, and justify your translation.

What is a N2 N°27? (line 11)
In what way does Jeroboam / Yaraveam ignore Biblical tradition? (line 11)
What changes does Jeroboam / Yaraveam bring about in the religious

practices of the northern kingdom of Israel?

Mention four points.

(1]

[1]
[1]

[2

[2]

2

[6]

(2]

[2]

[11

(1]

(4]

[Total: 25 marks]
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Question 6

Read the following passage, and answer in English the questions that follow.

line
number

1231 9¥ T°In Oy N3N DR DY UMW TeR AT T2 ROX? MY Vaw) oIwy niwa
NR PRTY 53 1on ToRT IR M7 03) YW WP XY DI Oy yRwn DOAwRR? UK 2
2y 137 1in2an Ty PRIYe 9) wy YN TInn2 R o SRS BY RAY W MYy 3
<o "3 AR TYY T Towm M7 TMIK K Nan TR T3 0D UM AIKTD TN %M 4
MYy IR IRV DY 772 NP7 P2 ¥Ip Nivy? Xon WK roNwn Y nm) w2 5
DT °727 790 PY D°ND O KT Wp WK WR) CW CNT M) ORI DR Xovna? 6
30 12°9nI? N3 12 °1AN IR ™I 0¥ XD C¥0? ORI oy pom IR ORI w7
ToR °330 NI NP3 1R CIRD MR WK Y DX UMY VIR WK OYR P STy MR 8
MY Iy AT DRIY 5Y UMY T2 NI o XOX? MW NOX) ULV D@2 oMy 9

DI RJP7 T DR 1A PP 00222 WY DRR 1MY M7 R PN D U PR 32 10
TR DIR YA T OrYR VIR UMY Awy MY nn IR WY ov By 132 WR TyR v 11
TR > DR ©YIT? SXIDY MR R°UNT WX RPN 0 13 OYA TIT 092 TN rapy 12
790 9 DD 07 XOT AYY WK NN Py WX MY N7 M) DPaTa R 13

POND U3 IROR 7m0 7MWW 27 PHIR DY MY 22U ORI 2on7 W CNT 14

T - 10D P10 N 095

1 Kings, Chapter 16, verses 15— 28.




Question 6 (continued)

(a)

(b)

(c)

(d)

(e)

(f)

(9)

(h)

(i)

1)

(k)

Why are the people camped at Gibbethon? (line 1)

(i) Why does Zimri choose to rebel at this time?
(ij) Whom does he kill? (lines 1 - 2)

How does Omri gain power? (lines 2 - 3)

What does Omri do once he gains power? (lines 3 - 4)

Why is Tirzah (line 4) important?

Mention any two points about the source of history
used by the writer of | Kings. (lines 6 — 7)

What specific actions of Jeroboam / Yaroveam are being referred
toinlines5-6 and 12 - 137

(i) Translate from pom IR (line 7)
until MY I (lines 8- 9)

(ii) Translate from 77 (line 12)
until  B7°7303 (line 13)

Explain the importance of Omri’s purchase. (lines 10~ 11)
Mention two points.

Explain the use of the letter N in:
(i) nyaw (line 1)
(i) DIXTD (line 4)

Explain the suffixes of the following nouns:
()o1232  (line 10)
(i) >3 (line 11)

[1

[2]
[l

2]

(2]

[1]

(2]

[2]

[4]

[2]

[2]

[1
[1]

[1]
[

[Total: 25 marks]
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Question 1
Question Max
Number . Answer Mark
(a) MR (line 1): Who is speaking?
. Jacob/ Yaakov [1] )|
(b) 371 0¥ °% D77 WYX (line 7): What was the vow?
« When Jacob / Yaakov would return from Laban’s house [1]
« He would offer sacrifices at that place [1]
1 mark per point, maximum [2]
(c) 2 nIMNm AR?) 20 1Y; (line 8):
(c) (i) What difficulties are there in this phrase?
+ The first verb is singular; the second is in the plural. 11
(c) (i) Mention any two complaints that Jacob / Ya’akov makes to Rachel and Leah.
(lines 1-4)
« Laban/Lavan was no longer kindly disposed to him [1]
+ Laban/Lavan had cheated him on a number of occasions [1]
« He had changed his method of payment [1]
« If the arrangement was to pay with spotted sheep, Laban / Lavan would then
insist on streaked / striped sheep. [1]
1 mark per point, maximum [2]
(d) Translate from 277 1Y (line 8) until TYY (line 11) [6]

Divide the passage into three phrases as follows:

Phrase Translation Reject

Y P TIMRD IR S vm Rachel and Leah answered and said, “Have
APAR P22 70N Pon Y

we still 2 share and inheritance in our father's
house?

0D MY SISO Y9K7 WR For he has sold us and totally consumed our

"2 1% uawm NP9 R Are we not considered by him as strangers?

money.

D2 2°X0 WX WYETI) D
S5 1Ay 130125 RIT 130 3TARD But all the wealth that G-d has taken away

Y TR TR TR WX

from our father belongs to us and our children.

Marks Transfer of meaning from Biblical Hebrew to English
0 Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant
error in grammar, punctuation and spelling in English.
1 Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are
instances of error in grammar, punctuation and spelling in English.
2 Accurate transfer of meaning. Faultless or virtually faultiess grammar, punctuation and spelling in English.
(e) What does Jacob / Yaakov do in lines 11 — 12? Mention two points.

» He put his family on camels [1]
+ He led away his entire livestock [1]
« and non-animal movable property [1]

» to make his way to his father Isaac who resided in Canaan [1]
1 mark per point, maximum

[2]




()

(9)

(h)

M

@)

(k)

What is meant by 11°Jp 1P (line 12)?
« A reference to male and female servants and / or camels and donkeys [1]
bought with the proceeds of the sale of his flocks [1] (Rashi)
« It refers to the possessions acquired by Jacob’s servants [1] who had been his
agents to execute deals [1] (R. Zvi Berlin)
1 mark per point, maximum

What are 0°070 (line 13)?
» ldols used as oracles to tell the future [1]
« Immoral images (Zohar) [1]
+ Images having human form (cf. Samuel 19:13), not always used as idols
(Maimonides) [1]
+ Atype of voodoo doll used in necromancy [1]
« An life-size image of husbands made for wives to gaze at in their absence (a
similar idea to a photograph) (Metzudath David-1 Samuel ibid.) [1]
1 mark per point, maximum

When Jacob / Yaakov fled (line 10), what was his route? Mention two points

« He crossed the river [1]
« And set his direction towards Mount Gilead [1]
1 mark per point, maximum

Give an example of an introductory 2 from this passage.
o 112%7 (line 7) [1]
o 13pn (line 12) [1]

1 mark per point, maximum

The verbs "3 (line 14) and 13" (line 15) have the same root. Show a difference
between the two forms.

« 1°277 3ms Hiphil perfect; [1] Alternative response: he told [1]
« 7171 3ms Hophal imperfect; [1] Alternative response: it was told [1]
1 mark per point, maximum

Using examples from these paragraphs, show how Jacob / Yaakov and his
wives view their relationship with Laban / Lavan. Mention three points.
« Notices a change in attitude / envy of both Laban and his sons as result of his
success. [1]
Feels cheated by constant changes of employment terms [1]
He was always loyal to Laban; gave his utmost to his work [1]
Wives feel treated as strangers by their father — he ‘sold them’ [1]
Rachel disapproved of her father’s religious practices [1]
» Yaakov was afraid of Laban; he had to flee without Laban knowing. [1]
1 mark per point, maximum

2]

[

[2]

[1]

[2]

[3]

[Total: 25]




Question 2

Question
Number

Answer

Max
Mark

(a) Who is referred to in line 1?

« Jacob/ Yaakov [1]

[1]

(b) Translate from 10"

A

Divide the passage into three phrases as follows:

(line 3) until 223/ (line 6)

[6]

Phrase

Translation

Reject

By TR PR 737 3py> N
52 x5 °3 X7 mwn nfby Ty
Py AR v

Jacob remained alone and a man fought
with him until the break of dawn. He saw that
he could not prevail over him, so he struck
the socket of his hip.

48y PART2 IpY? I 2 ypm
TR WET 7YY D CMPY MRT
"3I027370R "D NPYR KD

So Jacob’s hip was dislocated as he -
wrestled with him. He said, “Let me go, for
dawn has broken,” but he said, "I will not let
you go unless you bless me.”

APYY M) TR@IR TR VK"
D TRV TIVRRY 3Py KRR KM
DMK Y 0T 02 PRI X
523 TR o

He said to him, “What is your name?” and he
said, “Jacob.” He said, “no longer will it be
said that your name is Jacob, but Israel, for
you have struggled with angels and men and
have overcome.”

Marks

Transfer of meaning from Biblical Hebrew to English

Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant
error in grammar, punctuation and spelling in English.

Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are
instances of error in grammar, punctuation and spelling in English.

Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.

(c)

(d)
(d) (i)

(d) (i)

ay @R paR™ (line 3): Who is this man?
« The guardian angel of Esau [1] (Rashi)

» A psychosomatic experience [1] (Redak)
1 mark per point, maximum

X118 (line 7):

Why does this place receive such a name?
« Jacob had seen divine beings / angels [1]
+ Face to face [1]

1 mark per point, maximum

How do you account for the change in name from '?t;’;@ (line 7) to ‘n_mga (line 8)?
Give any two possibilities.
» Jacob called it Peniel; others called it Penuel. [1] (Rabbi Chaim ben Atar)

« Jacob called it Peniel at this point; later it became known as Penuel [1] (Living
Torah, see 1 Kings 12:25)

o The letters Yud and Vav are interchangeable [1] (Redak)

» Peniel indicates a higher level when Jacob first saw the place. [1] (Rabbeinu
Bahya)

1 mark per point, maximum

[1]

[2]

[2]




(e) (i)

(e) (ii)

(e) (iii)

()

(9)

(h)

(i)

@

What is the %30 T°X (line 8)?
« The sciatic nerve [1] (Living Torah)
« The sinew of the thigh [1]

1 mark per point, maximum

What prohibition is connected with it?
« Not to eat that part of an animal [1]

To whom does this prohibition apply?
« The Israelites [1]
« Jacob’s family [1]

1 mark per point, maximum

What is Jacob / Yaakov’s request (lines 11 - 13)? Mention two points.
« He suggests that Esau go ahead of Jacob [1]
. To allow him (Jacob) to follow behind at a slower pace [1]

« Jacob says he will make his own way to Seir [1]
1 mark per point, maximum

From these passages, find two examples, using different roots, of verbs whose
last root letter is a i1 (Lamed-He).
« niPy/ %Y (line 3) [1]
« D (line 8) [1]
o DRI (line 6) / X7 (lines 3 and 8) [1]
« 707 (line 9) [1]
« 127 (line 13) [1]
- 187 (line 14) [1]
o 127 (line 14) [1]
« W3 (line 14) [1]
1 mark per point, maximum

Where is DIX 178 (line 17) in relation to Canaan? You may draw a sketch map.
« North-east of Canaan

(line 1) and 072¥") (line 2) are from the same root. Show a difference between
the two forms.

"y

o it passed[1];

. alternative response: Kal 3fs, imperfect vav consecutive [1]

[sj=}

« he passed them over / he caused them to pass over [1];

. alternative response: Hiphil 3ms imperfect vav consecutive, [1]

« 3mp direct object (accusative) suffix [1]
1 mark each for either precise translation or grammatical difference, maximum

What unit of currency is used in Shechem at this time? (line 18).
» Kesitah [1]
« A unit that measures the value of a young lamb. (Targum) [1]
1 mark per point, maximum

(1l

[1]

[l

[2}

[2]

[1]

[2]

[1]
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(k)

From these passages, what strategies does Jacob / Yaakov use to deal with
Esau / Esav? Give two examples.
» He prepares a present to mollify him. [1]

« When Esau and his men approach, he splits his family so that some may
escape if necessary. [1]

« He pretends he needs to travel behind Esau at a slower pace [1]

« He trails off onto a different direction from Esau’s resident city [1]
1 mark per point, maximum

[2]

[Total: 25]
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Question 3
Question Max
Number Answer Mark
(a) How is Yehoshua / Joshua described? (line 1)
« Moshe’s attendant / servant [1]. [11
(b) 12 (line 1): Suggest a reason for the unusual pronunciation of this word.
« An alternative construct form for the noun 13, several examples elsewhere.
(Da’at Mikra) [1]
« The two ‘nun’ letters attract, shortening the pronunciation. (See Redak) [1]
1 mark per point, maximum [1]
(c) In what direction to the land of Israel is the Great Sea? (line 4)
« West. [1] [1]
(d) Where are the following places / areas in relation to the Land of Canaan?
You may draw a sketch map.
(d) @) | (1) 72721 (line 1)
« The desert area bordering the south of the land. [1] [1]
(d) (i) | (i) ©°ART TIX (line 1)
« The far north of the country / Syria bordering Turkey. [1] [1]
(e) What promise does G-d make? (lines 4 — 5) Mention any two points.
+ No one will oppose you [1]
« All your life [1]
o | will be with you [1]
« As | was with Moshe. [1]
1 mark per point, maximum [2]
(f) What condition does G-d impose? (lines 6 - 7)
+ Be very strong [1]
« To keep fully everything | commanded Moshe [1]
« Do not deviate at all. [1]
1 mark per point, maximum [2]
(9) Translate from U>"X? (line 8) until 1171 117°1°NX (line 11) [6]

Divide the passage into three phrases as follows:

Phrase Translation Reject

12 0731 TER 71T 79NAT DD wwery | Your mouth You should contemplate it day
INDT93D Niwy> wwn wnd v ot | @nd night. In order that you will carefully
230D ™) PITIR TPER WD 12

This book of the Torah shall not depart from

observe everything written in it For then you
bring success to all your undertakings And
then you will act wisely.

nRATeRY TIYATOX THRY P Thme xivg | courageous, do not be anxious or fearful, for
:gll;n' TWwR Soa 'Tlgni,'_x » oy »5 | the Lord your G-d is with you wherever you

ARRY oy ey i wn | 92

Indeed | command you: be strong and

Yehoshua commanded the marshals of the
people:

RS DYITOR MY IR0 2093 MY Go through the camp And instruct the
TR NYSY Tiya °> APy ok arop | People:

Prepare provisions for yourselves, for in
another three days you will cross this Jordan.

™I TTINR 02y onk




Marks Transfer of meaning from Biblical Hebrew to English
0 Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant
error in grammar, punctuation and spelling in English.
1 Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are
instances of error in grammar, punctuation and spelling in English.
2 Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.
(h) What arrangement had Moshe / Moses made with these three tribes? (lines 12 -

17) Mention three details.
« G-d will give you this land (trans-Jordan) [1]
« Your families may stay here, [1]
« Whilst you cross the Jordan to fight with the rest of the nation [1]
« When they have received the land promised to them [1]
« You may return to your property here. [1]
1 mark per point, maximum - [3]

(i) How do the three tribes respond to Yehoshua / Joshua? (lines 17 — 18) Mention
two points.

+ We will do whatever you have commanded [1]
« We will go wherever you send us [1]
« We will obey you as we obeyed Moshe. [1]

1 mark per point, maximum [2]

() Give three different examples of Hifil verbs from this passage.
«  2°min-line 6. [1]
. 2N -line 7. [1]
o 92D -line 9. [1]

1 mark per example, maximum [3]

(k) The phrase 722X) P17 (line 19) is repeated several times in this passage.
Suggest a reason for this.

« The theme of the passage is one of encouraging / exhorting / urging [1] 2]
the new leader to fulfil all that is expected of him. [1]

[Total: 25]
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Question 4
Question Max
Number Answer Mark
(a) How many men does Joshua / Yehoshua send? (line 1)
« Two[1] |
(b) What is their mission? (line 1)
« To spy the area of Jericho [1] [1]
©) How does the behaviour of Rahab / Rachav come into conflict
with the king of Jericho / Yericho? Mention any two points.
+ She purposely hid the two spies [1]
« Who the king of Jericho / Yericho was anxious to arrest. [1]
1 mark per point, maximum (2]
(d) Translate from 12 XM (line 5) until 337 2Y (line 7) [6]
Divide the passage into three phrases as follows:
Phrase Translation Reject
) . She said, “Indeed the men came to me; |
TRR CAYT R?) DWIRT VPR X2 12 MXM | didn't know where they are from. At
XY DPIRT qUna ﬂup’? YWD CiM 1A | nightfall, the gate was about to be closed,
and the men went out
) | don’t know where they went; pursue
DT DWIRT 0PI MR HYT X? | them quickly so that you will overtake
1330 un‘ggq R 01D °2 07PN MR | them.” But she had taken them up onto
the roof
a3 - 9y = NUD: -~y | And had hidden them in the flax stalks
A3 ” n‘? MR 7Y "DYD2 DIRuR) that were lying on the roof.
Marks Transfer of meaning from Biblical Hebrew to English
0 Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant
error in grammar, punctuation and spelling in English.
1 Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are
instances of error in grammar, punctuation and spelling in English.
2 Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.
(e) What steps did the king of Jericho / Yericho take to capture the two spies?
(lines 7 — 8) Mention any two points.
« Soldiers pursue in the direction of crossing points of River Jordan / Yarden [1]
« Shut gates of Jericho / Yericho to facilitate the search [1]
+ And prevent escape from city [1]
1 mark per point, maximum [2]
0 What did Rahab / Rachav admit to the two spies? (line 9) Mention any one

point.
« | know that G-d has given you this land [1]}
+ Your fear has fallen upon us [1]

1 mark per point, maximum

[1]
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(9)

(h)

)

(ii)

(k)

Mention one historical event that Rahab / Rachav recalls. (lines 10 - 11).
« Splitting of sea [1]
« Destruction of Emorite kings [1]

1 mark per point, maximum

What do these events lead Rahab / Rachav to conclude? (lines 12 - 13)
« The G-d of the Israelites is the only G-d. [1]

What is the arrangement between Rahab / Rachav and the spies? (lines 14 - 16)
« We take responsibility for the lives of your family [1]
« On condition you don't reveal this arrangement to anyone [1]

1 mark per point, maximum

The verb roots 237 (2°237% ~ line 1) and 151 (1517 — line 3) are both used in this
passage to mean ‘to spy’.
What is the true meaning of each of these verb roots?

« 37 —to walk on foot [1]

« BN —to dig [1]

1 mark per point, maximum

Explain how each of these verb roots can be used to mean ‘to spy’.

« 937 -to walk on foot = to wander around on foot / people who must only travel

on foot; probably to attract less attention than other means of transport, and
easier to hide. [1]

« 7017 - to dig = to uncover secrets or reveal information. [1]
1 mark per point, maximum

What do we learn about life in the land of Canaan at this time? Mention two
points, and give examples from the passage.
« People live in fear of imminent Israelite invasion.
+ People lost all confidence of victory against the Israelites
» People seem to be watching each other; the visit of strangers is noticed and
reported.
« Land seems to have been divided into very many kingdoms; even one town of
Jericho had a ‘king’.
Award one mark for any point, and one mark for giving a supporting example from the
passage. Maximum

[1]

)

[2]

[2]

[2

[4]

[Total: 25]
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Question 5
Question Max
Number Answer Mark
(a) How is Shemaiah described? (line 1)
« Man of G-d / Prophet [1] [1]
(b)
(i) Who else is present when Shemaiah addresses the king? (lines 1- 2)
« People of Judah [1]
« People of Binyamin [1]
« The rest of the people [1]
1 mark per point, maximum [1]
(ii) Why does Shemaiah address the king in front of a large audience?
» To demonstrate that the king depends on the advice of the prophet in the []
same way as ordinary citizens. [1]
(c) What does Shemaiah advise his audience? (line 2 - 3)
» Do not fight your Israelite brethren [1]
« Return to your homes [1]
« This situation is part of G-d's plan. [1]
1 mark per point, maximum [2]
(d) How does Jeroboam / Yaraveam strengthen his kingdom? (line 4 - 5)
« Built / rebuilt two towns [1]
« As defence cities [1]
» Shechem on the west bank of the Jordan / Yarden [1]
» And Penuel on the east bank. [1]
1 mark per point, maximum [2]
(e) What is the historical importance of the places mentioned in lines 4 — 5?
» Both places are famous for their connection to the patriarch Yaakov: [1]
« Shechem is the first place of Yaakov's settlement in the land of Canaan. [1]
« Penuel is the place of Yaakov's fight with a messenger of G-d. [1]
1 mark per point, maximum [2]
f) Translate from 17Y°"0X (line 6) until 0°7¥» 7IX7 (line 9) [6]

Divide the passage into three phrases as follows:

Phrase Translation Reject

» "33 onAr piwy? M0 oy ahye-ox | this nation will go up to offer sacrifices
5K nr'r’j"rx u,'x' a7 byn ‘b JV}W n&rb’wz in G-d’s temple in Jerusalem, the heart of

this nation will return to their master

T R D¥IM | Rehaveam king of Judah

AT 9o oyan SR 12w) *i3qm | They will kill me and return to Rehaveam

21 o3y 77 T Tonn Wm king of Judah. The king took advice, and
TTooTER TR DT‘?N m'x'-;i made to golden
YR TR calves, and said to them [the people]

515??7 THO-R M7 i nioyn o3% 1 It is too far for you to go up to Jerusalem,

! \ ; these are your gods, O Israel, who
WD TR 7]1'?¥,U oK brought you up from the land of Egypt.




12

Marks

Transfer of meaning from Biblical Hebrew to English

Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant
error in grammar, punctuation and spelling in English.

Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are
instances of error in grammar, punctuation and spelling in English.

Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.

(9)

(h)

(i)

)

(k)

What is significant about the towns mentioned in lines 9 — 10?
« These towns are northern and southern border towns of the northern / Israelite
kingdom: [1]
+ Bethel is the southern border, [1]
« Dan is the northern border. [1]
1 mark per point, maximum

The phrase 17 7Y X7 °107 0¥ 1377 (line 10) is difficult to transiate.
Suggest a translation, and justify your translation.

+ ‘The people went as far as the deity in Dan’: [1]
TN is a euphemism for a deity / important object. [1]

« ‘The people went in front of the leader to Dan’: [1]
IR is synonymous with WX — they went on a pilgrimage with group
leaders. [1]
1 mark per point, maximum

What is a Nin2 n°2? (line 11)

« Atemple/ shrine [1]

« High platform [1]

» Area designated for offering sacrifices [1]
1 mark per point, maximum

In what way does Jeroboam / Yaraveam ignore Biblical tradition? (line 11)
« By appointing priests from tribes other than Levi. [1]

What changes does Jeroboam / Yaraveam bring about in the religious practices
of the northern kingdom of Israel? Mention four points.

o Introduced temple shrines in Bethel and Dan [1]

« Introduced golden calf images for worship [1]

« Selected priests from tribes other than Levi [1]

. Festival to replace Tabernacles, on 15" of eighth month [1]

« Prevented travel to Temple in Jerusalem [1]
1 mark per point, maximum

[2]

[2]

[1]

[1]

[41

[Total: 25]
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Question 6

Question
Number

Answer

Max
Mark

(a)

(b) (i

(b) (ii)

(c)

(d)

(e)

()

(9)

Why are the people camped at Gibbethon? (line 1)
« Fighting the Philistines [1]

Why does Zimri choose to rebel at this time?
+ Took advantage of army fighting Philistines [1]
« Backed by army coup [1]

1 mark per point, maximum

Whom does he kill? (lines 1~ 2)
« Elah son of Ba’asha [1]

How does Omri gain power? (lines 2 - 3)

« Army faction [1}

» Backed by populace - common assent [1]
1 mark per point, maximum

What does Omri do once he gains power? (lines 3 - 4)
+ Went from Gibbethon [1]
« Besieged Tirzah [1]

1 mark per point, maximum

Why is Tirzah (line 4) important?

« It was the capital of Israel [1]

+ Location of the king’s palace [1]
1 mark per point, maximum

Mention any two points about the source of history used by the writer of | Kings.
(lines 6 - 7)
« The chronicles of the kings of Israel contained information not recorded in the
Bible [1]
» ltis no longer extant [1]
» Itis not to be confused with the Biblical book of Chronicles. [1]
1 mark per point, maximum

What specific actions of Jeroboam / Yaroveam are being referred to in lines 5 -
6 and 12-13?
+ Made golden calves [1]
+  Which were placed in new temples in Dan and Bethel [1]
« Inducted priests who were not worthy of their position / who were not from the
tribe of Levi [1]
» Sacrificed to these idols [1]
« Shifted the seventh month festival of Succoth / Tabernacles to the eighth
month [1]
1 mark per point, maximum

[1]

[2]

[l

[2]

[2]

(1]

[2]

[2]
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(h) (i)

Translate from p2n> IX (line 7) until >y 7727 (lines 8- 9)

D

Divide the passage into two phrases as follows:

[4]

Phrase

Translation

Reject

oy "X0 X0? YRIYT 0¥ pYnY IR
129307 NPIT1R 3N MR
SRy MR ¥

Then the people of Israel were divided into
two. Half of the people were after Tibni son
of Ginath to proclaim him king and half after
Omri.

MY MR WK oYR PN
NI3712 *13N MR WR OYTTDR
Sy Tow C1an o

The people that followed Omri overpowered
those who were after Tibni, son of Ginath.
Tibni died and Omri reigned.

(h) (i)  Translate from '=|'23] (line 12) until Dlr_,l"?;tl:;l (line 13)

[2]

Phrase

Translation -

Reject

VI3 YA 1T TN
PRITTOR RLAT R INRYAD
ORI *T-R TTNR 0Yan?
o232

He went in all the ways of Jeroboam /
Yorovam, son of Nebat and in his sin
whereby he caused Israel to sin to anger the
L-rd, G-d of Israel with their false gods

Marks

Transfer of meaning from Biblical Hebrew to English

0 Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant

error in grammar, punctuation and spelling in English.

1 Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missing details. There are

instances of error in grammar, punctuation and spelling in English.

2 Accurate transfer of meaning. Faultless or virtually faultless grammar, punctuation and spelling in English.

(i) Explain the importance of Omri’s purchase. (lines 10 — 11) Mention two points.

« City on a mountain providing strategic viewpoint [1]
« Became new capital [1]
1 mark per point, maximum

(i) Explain the use of the letter N in:

() () | nYA (line 1)

() (ii) NiX2 (line 4)

» DNreplaces last letter root i1 [1]

(k) Explain the suffixes of the following nouns:

(k) () | 821222 (line 10)

(k) (i) | *3X (line 11)

o Dual plural [1]

« masculine plural construct [1]

« Construct form of YW, a unit of seven consecutive (days) [1]

[2]

[1]

[1]

[1]

[1]

[Total: 25]
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Paper Two: Literature
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